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Instructions for candidates :

1.
2.

This exam is in two parts.

Part - 1 is related to Mental Ability-Test which
consists of 90 questions.

Part - II relates to Scholastic Aptitude Test
which consists of 90 questions relating to three
subjects listed below :

i)  Science

ii)  Mathematics

iii)  Social Science

Each question carries one mark. All questions
are compulsory.

You have been provided with an answer sheet
(OMR) for this question paper. Darken the
correct option of each question in the answer
sheet (OMR) with black/blue ball pen.

Rough work may be done on the blank space
provided for this purpose.

There is no negative marking in this test.

Do not use white fluid on OMR (Answer
Sheet).

Half an hour extra should be given to Visually
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8th

Directions (Question 1-10)

There is a number/letter series, which follows a pattern.
One place is left blank. Follow the similar pattern &
find out the correct answer from options.

1.

10.

2,37,16,32, ......
(1) 59 (2) 64
(3) 57 (4) 54
5,6,9,14,21,30, .....

(1) 37 2) 41

(3) 40 (4) 45
2241248, .....

(1) 120 2) 196
(3) 240 (4) 280
7,15,32,67,138, .....

(1) 281 2) 290
(3) 292 (4)_180
A C,GM, oo

(1 S 2 T

3) U 4) v

PMT,00S,NQRMSQ........

(1) LUP (2) LVP
(3) LVR (4) LWP
53,59, 67,77, 89, ......

(1) 97 2) 101
(3) 103 @) 13
34,18,10,6, 4, .....

(1) 1 2) 2

(3) 3 (4) 4

86,48,32,........

(1) 5 2) 6

(3) 8 (4) 12
31,37,41,43 47 53.....

(1) 55 (2) 57
(3) 59 (4) 63

fasgew : yus (1-10)
I fo's ymst fo's fo'q ay wive ot fo'q st fost
aret 4 | feg? st <9 fe'a mars wat & fawr famr
T | few i & fors fe 9 Tua 331 & uar 995 BT
fe'd ae G390t &9 ndt ot I=ad |

1.

10.

2371632, ......
(1) 59
(3) 57

5,6,9,14,21,30, ......
(1) 37
(3) 40

2241248, ...
(1) 120
(3) 240
7,15,32,67,138, ...
(1) 281
(3)s 292

PMT,00SNQR,MSQ,........

(1) LUP
(3) LVR

53,59, 67,77, 89, ......
(1) 97
(3) 103

34,18,10,6, 4, ......

(1) 1
(3) 3

86,48,32,........
(1) 5
(3) 8
31,37,41,43 47 53......
(1) 55
(3) 59

54

41
45

196
280

290
180

LVP
LWP

101
13

12

57
63
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Directions (Question 11-15)
Find the wrong/odd number, letters or term from the given
series:

1. 29,33,37,41,47,53

(1) 33 2) 41

(3) 47 (4) 53
12, 2,5,14,41,123,365,1094

(1) 5 2) 41

(3) 123 (4) 1094
13, 0,6,25,60,120,210,336

(1) 6 2) 25

(3) 120 (4) 336
14, RT,KL, WY, MO

(1) RT 2) KL

3) WY (4) MO
15, 23-29, 31-37, 39-45, 41-47, 53-59,

(1) 23-29 (2) 31-37

(3) 39-45 (@)g41-47

16.  Inacertain code language TEACHER'iS written as
VGCEJGT', How can 'STUDENT" is-written in that
code language?

(1) UVWFGPV (2) UVWEFOU
(3) GPVUVWF (4) UVWVPFG
17. If'PUNJAB'= 64 then 'HARYANA' = ?
(1) 48 (2) 58
(3) 68 (4) 78
18.  1f'123456' = 'CHARGE' then '2634' = ?
(1) HEAR (2) DEAR
(3) HARE (4) FEAR

19.  In a certain code language 'SPARK' is written as
'TOBQL', How can 'FLAME' is written in that code

language?
(1) GKBNF (2) GKBLF
(3) GNBLF (4) GMBMF

20. If'DREAM'is coded as '78026' and 'CHILD'" is coded
as '53417', How can 'DEALER' be coded?
(1) 702108 (2) 702708
(3) 702801 (4) 702780

fasaem - (Y 11-15)
J&t €3 yust S99 amz/fuerid, iug At Ue 92|

1. 29,33,37,41,47,53

(1) 33 2) 41

(3) 47 (4) 53
12, 2,5,14,41,123,365,1094

(1) 5 2) 41

(3) 123 (4) 1094
13, 0,6,25,60,120,210,336

(1) 6 @) 25

(3) 120 (4) 336
14, RT,KL, WY, MO

(1) RT 2) KL

(3) WY (4) MO
15, 23-29, 31-37, 39-45, 41-47, 53-59,

(1) 23-29 (2) 31-37

(3, 39:45 (4) 4147

16. | faH I 'd@ f&'9 'TEACHER' & 'VGCEJGT,
& gt Jtar 1 €7 a8 g7 f='9 'STUDENT

SigENahinr Fr=ar?
(1) UVWFGPV (2) UVWEFOU
(3) GPVUVWF (4) UVWVPFG
17.  #ad 'PUNJAB'= 64 37 'HARYANA' = ?
(1) 48 2) 58
(3) 68 4) 78
18.  #ad '123456' = 'CHARGE' 37'2634' = ?
(1) HEAR (2) DEAR
(3) HARE (4) FEAR

19. fai g8 az f29 'SPARK' & TOBQL', fafimir
#rer J1 €7 g &7 fE9 FLAME & fa=
fafemr =T J?

(1) GKBNF (2) GKBLF
(3) GNBLF (4) GMBMF

20. fan =gz f<9'DREAM' & '78026' #= 'CHILD'
& 53417, fefmr wer 9 @7 g fes
'DEALER' & fa=" fafumr ar=ar?

(1) 702108 (2) 702708
(3) 702801 (4) 702780
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21.

22.

23.

24.

As College is related to students in the same way
as Hospital is related to ........

(1) Doctor (2) Nurse

(3) Patient (4) Treatment

As Foot is related to Leg in the same way as Hand
is related to ........

(1) Fingers (2) Arm

(3) Shoulder (4) Palm

If +=-,-=+,+=x x=+ thenfind the value
of : 36x3+2+8-6

(1) 20 (2) 12

() 22 4) 24

[fA=+ B=+ C=- D= xthen find the value of :
15B3C4A12D2
(1) 25

(3) 17 4) 15

Directions (Question 25-27)

According to the specific pattern fill the'blzank spaces
of letter series in the following questions:

25.

26.

27.

28.

29.

__aba__ba_ab \

(1) abbab (2) abaab
(3) baabb (4) bbaba
aa_ab_ _aaa b

(1) aaab (2) aabb
(3) abab (4) baaa
kab_akk_ _bakka_ _akkabba_

(1) babbbk (2) baabkb
(3) baabka (4) akbbab

How many 9's are there in the following number
sequence which are immediately preceded by 6 but
not followed by 47

9542694 36953598439692406943

(1) 3 (2) 4

(3) 1 (4) 2

How many 4's are there in the following number
sequence which are immediately preceded by 7 and
followed by 3?
59321743469746132874138325674395820187
437456
(1) 3 (2) 4

5

21.

22.

23.

24.

fAe aeq e Agy fefenragnt & 7, GH

IFTIUIE EAET . 5T T
1) Iged (2) &I
(3) Wl (4) fems

e l@e Musaas T, G ag ager
AT ... && I

(1) Gastut (2) g9

(3) Her (4) gE®T

H+=- -=+ +=x x=+ g% I 75 (Bt
TTH®EUITET: 6x3+2+8-6

(1) 20 2 12

(3) 22 4) 24

W A=+B=+ C=- D=xd= 3" & &t &
H&UITad: 15B3C4A12D2

(1) 25 2) 18

3) 17 @) 15

ﬁm@n{qmﬁ—zﬂ
g6 1 Fodly & ydt dos &el old 839 €t d= ad|

25.

26.

27.

28.

29.

_ ‘abal_ba-ab

(1) Tabbab™ (2) abaab
(3) #baabb (4) bbaba
aa_ab_ _aaa_b

(1) aaab (2) aabb

(3) abab (4) baaa

kab_akk_ _bakka_ _akkabba_

(1) babbbk (2) baabkb
(3) baabka (4) akbbab

75 et 53t feg wig o faat =g wrEer o
v 87 T ufasT wig 6 9= ug 9w feania

4 BT e 9=
954269436953598439692406943
(1) 3 (2) 4
(3) 1 (4) 2

o et Bt feg wia 4 faat Tanr8er o
A< G T ufost wig 7 9° ug gie R 99
3 M"‘@?" J=:
59321743469746132874138325674395820187
437456

(1) 3 (2) 4

G F%r Exam Prepara‘fll)on & more content check webgl3 }e Rttps://nmms.wéééss‘%ddai n/


https://nmms.successadda.in/

30.  Ifthe'rain'is ‘water', 'water'is 'road’, 'road'is 'cloud',
‘cloud' is 'sky', 'sky'is 'sea’, 'sea' is 'path’, then where
do cars move?
(1) Road
(3) Water

(2) Path
(4) Cloud

Directions (Question 31-36) Find missing term :
31.

12 [ 18 | 16
23 | 24 | 48
4 | 18 | 2
(1) 9 2) 120
(3) 132 (4) 144
32
1 2 | 3
4 5 | 6
7 8 | 9
27 | 38 | 2
(1) 50 (2) 51
(3) 52 (4) 54
33.
8
216
34

30. #gd Wi’ ‘uel, ‘uret’ & ‘R, ‘I &
HEE, ‘He® & RS, WTHHS & ‘AHEd,
‘ANed’ & ‘IHIT, ITEA T [T g g BEai?
(1) A=e (2} gHaT
(3) U=t (4) E8

fasgew (YHE 31-36) BUI U¥ €7 U3™ d4:
31.

12 [ 18 | 16
23 | 24 | 48
4 | 18 | 2
(1) 9 2) 120
(3) 132 (4) 144
32
1 2 | 3
4 5 | 6
7 8 | 9
27 B |
(1) .50 (2) 51
3 152) | (4) 54
33.
8
216
34.
3 §
by
.
(1) 32 2) 36
(3) 40 (4) 48
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35,
25 4 9
16| 361 | 1 64| 289 (16 1 ? (49
81 9 25
(1) 196 (2) 225
(3) 361 (4) 256
36.

Z4 X3 V9
? C5 E12
T6 R7 P15

Directions (Question 37-40)

Study the following information carefully and answer the
questions given below it: g

There are six persons A, B, C, D, E'a'n._d F. Cjs the sister of

F. B is the brother of E's husband. D"is.,_:t'he father of A,

grandfather of F and father in law of E. There-are two fathers
and three brothers and a mother in the group.

7. Who is the mother?

35.
25 4 9

16 | 361 | 1 64( 289 |16 1 ? [49

81 9 25
(1) 19 (2) 225
(3) 361 (4) 256
36.
z4 | X3 | Vo
? C5 | E12
T6 | R7 | P15
(1) A5 (2) B5
(3) A6 (4) B6
fegew (yas 37-40)
76 feut Areardt & fows a8 uz 9 98 fed
e € Zafs:

# HauwA B C D EmIFasICFEtI= dIBEY

uFter g TI DA T fugT, Fer e mi EvT AgeT

(1 A (2) B
@ C 4) E
38.  Whois E's husband?
(1) A (2) B
@) C (4) E
39.  How many male members are in the group?
(M 1 (2 2
@) 3 (4) 4
40.  Which of the following is the group of brothers?
(1) ABF (2) ABD
(3) BFC (4) BDF

J1
37. WITdEd?
(1) A 2) B
3 C 4) E
38. Ewrudidsdr?
(1) A ) B
(3) C (4) E
39. gy fea fas vea mirert as?
(1) 1 2) 2
(3) 3 (4) 4
40. U5 et fee faug agu fea g soras?
(1) ABF (2) ABD
(3) BFC (4] BDF

41. EissonofA,DissonofB,EismarriedtoC, Cis
B's daughter. How is B related to E?

4. EAT w3 $1DB = v's3 TIECHS
fennfaney Sfemr ) C,BET UZdt JIBEE
&% at fgagra?

(1) Brother
(3) Fatherin law

(2) Uncle
(4) Brotherin law

(1) =47
(3) Agdr

(2)g4T
(4) A&7
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42. APRXS and Z are sitting in a row. Sand Z are in
the centre and A and P at the ends. R is sitting on
the left of A, then who is sitting right of P?

(1) X 2 R
@) S 4 Z
Directions (Question 43-47)
Study the following information carefully and answer
the questions given below it:
Suppose you want to see Commonwealth Games

StadiumA,B,C,D,E,F,G,Hand I. Stadium C is situated 4km
in the east of stadium B. Stadium A is situated 2km in the

north of stadium B and Stadium H is situated 4km in the
south of stadium A. Stadium Gis situated 2km in the west
of stadium H. Stadium D is situated 6km in the east of
stadium G. Stadium F is situated 4km in the north of
stadium G. Stadium | is situated between stadium B and
stadium C. Stadium E is situated between stadium H and
stadium D.

43.  Whatis the distance between staditim Iahd C?
(1) 3km (2)5%4 km
(3) 2km (4) '8,5kmi

44.  What is the distance between stgﬁiﬂin land E?

(1) 4km (2) 3km
(3) 2.5km (4) 2km

45, What is the distance between stadium H and A?
(1) 4km (2) 3km
(3) 2.5km (4) 2km

46.  What is the distance between stadium Aand F?
(1) 3km (2) 2.5km
(3) 2km (4) 4km

47.  What is the distance between stadium G and D?
(1) 8km (2) 6km
(3) 4km (4) Tkm

Directions (Question 48-51)

Study the following information carefully and answer

the questions given below it:

Ravi and Kunal are good in Hockey and Volleyball.

Sachin and Ravi are good in Hockey and Baseball.

Gourav and Kunal are good in Cricket and Volleyball.

Sachin, Gourav and Michael are good in Football and

Baseball.

48.  Whois good in Hockey, Cricket and Volleyball?
(1) Sachin (2) Kunal

42. APRXSw3Zfewagqg feaus os1 Swid
Z feaara 8& 05 v @ AwI P e un fafamt
FHS I8 RAEHHUHES JITHP & /e

de HET g7
(1) X 2 R
(3) S 4 z

faaew (yas 43-47)

o fodt Freadt & s &% ug @ It
o3 yast € 839 fe&:
wEt G979 4= He=Fhuy AB,CDEFGH nid | 2y
& | Rea i B & Ugs &5 UTH 4 fa@sl S Hes M C
J1 S B @ Egd @6 ui 2 faoll: 3 Hednnn A
T T HEEHH A & o¥e I8 Ui 4 faad F
HedmH H | Redi He Waw =B uR 2 fant: 3
mestnt G 71 7 fa mestens G & yog 78 Uit 6
fat: 3 mEanr D1 wa AZamin G € §39 3%
it 4 ot = westons F o mestons |, mestnin B
wa Wedmni C ¥ fesas fegam 119 fa meatmii
E, AegTH H g Wegin D & Tasaw fesgers a1
43. AeFtH |93 AeSti C ¥ feware faat gat a7

(1) \3km 2) 4km
(3} 2km (4) 3.5km
L U3 ) 2) 3km
(3)" 2.5km (4) 2km

45,  AEEPAMHWT AeEHAT feaara faat wdt a7
(1) 4km 2) 3km
(3) 2.5km (4) 2km

46. AEFAHANT AeEiHF & fegarg faat gdt a7
(1) 3km (2) 2.5km
(3) 2km (4) 4km

47.  AeEtH G i3 Aesiv D fegars faat edt 97
(1) 8m (2) 6km
(3) 4km (4) 7km

fagos (yRs 48-51)

us fodl wreadt & s s ug o ot fe g
yEst & @aa el

<l w3 &%, Tal M3 SEtrs e 99 951
<t mT wias oat oig ewes o a9 an 1 giew
wd g5's, (qae wg Tetes Fu 94 951 nfas,
Jid<e M3 HEla®, 8 298 MI TAT'® f&9 9ar 951

48. gal, fg@e w2 Taws g des gard?
(1) mfes (2) g&®
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49.

50.

51.

52.

53.

99.

56.

57.

58.

Who is good in Baseball, Cricket and Volleyball?
(1) Sachin (2) Michael
(3) Kunal (4) Gourav

Who plays least games from all of them?
(1) Michael (2) Kunal
(3) Sachin (4) Ravi

Who is good in Baseball, Hockey and Volleyball?
(1) Michael (2) Kunal
(3) Ravi (4) Gourav

What is the angle between the hands of a clock at
3:30 O'clock?
(1) 60°
(3) 90°

2) 75°
(4) 725

How many times digit 1 is used when we write
counting numbers 1 to 100.

(1) 10 (2 1

(3) 20 4 21

How many numbers between 1 toy80 awhich are
divisible by 6 but not divisi
(1) 8 (2)
@ M1 4 10

The month October of a year starts with-Fuesday.
Which is the first day of November?

(1) Tuesday (2) Wednesday

(3) Thursday (4) Friday

If 1st January 2008 was Monday, then what day of
the week was it on 31st December 20087

(1) Monday (2) Wednesday

(3) Tuesday (4) Sunday

There are 46 students in class 8th. Renu is on 28th
place from the front side, in which place she is from
the back side.
(1 19
(3) 17

2) 18
(4) 29

Rohan walks a distance of 3 km towards North, then
turns to his left and walks 2 km. He again turns left
and walks for 3 km. At this point he turns left and
walks for 3 km. How many kilometers is he from the
starting point?

(1) 1km (2) 2km

(3) _3km (4) 5km

49.

50.

51.

52.

53.

54.

s, fgae ws opws ffgds @ d?

(1) afas (2) HElES

(3) 58 (4) dig=

feost fe9 7g T we vst d= ygur 47
(1) WEE® (2) &

(3) Afgs (4) g=t

s, el g T EwE feg g gar 97
(1) Wwelas (2) H&5

(3) a=t (4) did=

wt It gE iR 3:30 =4 fad faadt e
g gEer J7

(1) 60° 2) 75°

(3) 90 (4) 72.5°

1 7 100 I fareat foye an 1 o7 o faat
TgwiEer J7

(1) 10 2 1

(3) 20 (4) 21

1 ' 8o f&a @' fastut Afunret s 1 6
mmﬂ'nﬁﬁnﬁaﬁwamﬁf’r?

(1) 8

o1 bﬁ {4} 1|:!
Epﬂg waIHd & HITHT HASY &

56.

57.

58.

Qﬁ?&lmawmﬁﬁhﬁggm

(1) HaTB=T (2) gU=d

(3) =g (4) Hog=T

Had | HE=dl 2008 § AH<T9 AT, 31 31 SRe
2008 & fauzr fes o=ar?

(1) AH=T9 (2) sU=9

(3) Var@=g (4) wI=TT

na<l Hel €9 a& 46 fefonradt o511 38
v et fe9 Qued uw F 28 99 T13F

el feg gy 3 fase mare I T
(1) 19 2) 18
3) 17 (4) 29

0% G339 fewr @5 3 km T8er T T feg
WMUE HH UH HEd 2 km 9 ®e 71 G gaar
fesyguR s T 3kmage JifeRnfie T
feg G ¥F uH yzer I MT 3 km IEeT 1
v wmug wrafew fiag 3 fasr o 97

(1) 1km (2) 2km

| {Jg Jkm (4 Skm
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59.

60.

A person starts from a point P and travels 3km
eastwards to Q and then turns to his left and travels
thrice that distance to reach R. He again tumns to
his left and travels 5 times the distance he covered
between P and Q and reached his destination S.
What is the shortest distance between P and S?
(1) 12km (2) 15km

(3) 13km (4) 18km

Identify the diagram that best represents the
relationship among State, Country and City.

e A

Directions (Question 61-64)

In the folowing diagram, the square represents girls,
the circle represents tall persons, the triangle is for
tennis players and the rectangle stands for the

61.

62.

63.

64.

Fl G

Which letter represents tall girls who are swimmers
but don't play tennis?

(M C (2 D

3) H 4) G

Which letter represents girls who are swimmers, play
tennis and tall?
(1) B
@ F

Which letter represents tall girls who don't play
tennis and are not swimmers?
(1) C 2 D
@) E 4 G

Which letter represents tall persons who are gents
and swimmers but don't play tennis?

(1) 1 2 J

@) K

59.

60.

fFaw il P fag T e s e o oo wour
IniF s kmId Qi ga s difee Gy
HHHF T UNST 5B 3ge sead g RfaE 3
uydger 71 feg §owWus ¥E U va F ufast
aH sgeTena SfieFweAw P
w3 S fegd we w? gdt ¥R

(1) 12km (2) 15km

(3) 13km (4) 18km

&w fo'ga &t 9= 59 7 7, o0 w3 "fe feg
At frég & wan@er 9=

% DO

fsadn (Yas 61-64)

75 feu foza fee =gar sadmt &, 9dd 89
fesnst &, faa= fan fugvatnt & w3 wrfez
Joat § san@er i

e 2@ d mga g2 yast @ 39 fef:

Punjab |?

63.

64.

D
{e/a)
L

fagaT niya sdt B3dt | 299 75, Ud

cfan fuzrdt adt g5 § wanber 97

(1 C (2) D

(3) H @4 G

fauzT wiyg 3ad, T BI i Wi fan
fizdbut & wam@er 37

(1) B (2 E

(3 F (4) H

faaaT »iyg Fdnt Bsgatt & Java Sat 75
w2 &t efaw fust 05, & sem@er g7

(1 C 2 D

(3) E 4) G

fauaT nivg 89 feamst & 7 yam g J9w
9% ug efan fusdt 50t o5 § sam@er 97

(1) 1 2 J

4) L
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65.  How many squares are there in the given figure: 65. fazqgfea =gar &t farsdt o
(1) 8 2) 12 (1) 8 2) 12
3) 15 4) 18 (3) 15 (4) 18
66.  How many triangles are there in the given figure: 66. fed fagqafaa faae & faeat on:
(1 8 (1) 8 2) 12
(3) 14 (3) 14 @) 10

Directions (Question 67-70) fsaem (WEs 67-90)

In given below figures three a a]iké in some P S fage fev faw fagq fan €ar
manner. Find the figure which is-differ from Uﬁg fod os, ma fa fea faga=yd,

others: =@y fgzg & 9= a4
67. 67.
=] |[=] =] |[=]
(1) ) 3) 4) (1) (2) (3) 4)
68. ., 68 _ .
B ] ] O 0 5 e
LT =S e
(1) 2) 3) (4) (1) (2) 3) 4)
69. 69.
Aals+ O] Aals+ O]
(1) 2) 3) (4) (1) (2) 3) 4)
70. 70.
(1) ) 3) 4) (1) (2) (3) 4)
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Directions (Question 71-74)

Each of the following question constitute A,B,C and
D as problem figure while (1),(2),(3) and (4) constitute
answer figures. Select a answer figure which will continue
the series established by figures A, B,C and D.

71.

X ® * X @

1= *
® x *®
A B C D

3 = % X + *

x|Y ® x

@ * £
72.
73.
74.

oo
Fay

o

a

o A

A O

Ilor Exam ?h'eparati ona & more é‘ontent check websi te%ttps://nmzmswcc&es%ddai n/

fagvw (yas 71-74)
I5t fod ywst fe's gz AB,C w3 D RHfimr
feggoama 12,33 4G 3afazaosifea @aq
fe'gat fe¥ ota fo'gg &t 9< a9, fam &% ABC
w2 D fa3at &t &3t v wigreT {939 yuz § 9=

1.

X ®
o e
® x x
A B C
E 3 X % X
x|Y @
o *

oo
Fay

o

a

o A

A O

4
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Directions (Question 75-78)

Each of the following question constitute A, B, C and D
as problem figure while (1),(2),(3) and (4) constitute
answer figure. There is a definite relationship between
Figure Aand B. Establish a similar relationship between
fig. C and D by choosing a suitable answer fig.

79. 7
A | ?
~A B C D
|| B |
N U] (2 ()] (4)
ik
- (1) (2) (3) (4)
NE -
A B [ 07 D
SeEeEe s
78.
—+|—7| ?
| X &=

M

2

(©]

(4)

11

fagew (yas 75-78)

Jot feg yuat fe fgg9 ABC 3 D
e faga 95 w3 1,2,3 w3 4 @39 fo3a
usifagd Am3 B e adt A §, 88 agi &
Wi fatge ¢ w3 D fe'y narfuz a9w &9l ala
faaa ot 9= aa

75.

76.

m

@)

77.
AN, — -
A B c D
L =
(1) (2) (3) (4)
78.
—+|—7| ?
A B c D

=

M

@ 3 4
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Directions (Question 79-82) fsgen (yrs 79-82)

Each of the following questions complete the dat fog faga (X) @ suz gar & fe3
missing portion of figure (X) according to the given  &H& #aH'd Fa5 &El AT feamy € 9= aa:
pattern by selecting from the given alternatives:

—— ——

L@ 7 @]
¥ [FRl8lal & EZaElE

80.
(3) 4
81. 81.
i
¢/ L0
r1 LA
(1) @ @) ullsad) @) )
82. -
AAQ ¢
AR AKSe
g ll 5% g ll w 23
il 09 1O OO0 AN RO ©
X Mm@ (4) X Mm@ e (4)
Directions (Question 83-86) f&aeH (UAS 83-86)
Each of the following questions choose the correct — d&t fog faga (X) & uet &€ alta Ity &t
water image of figure (X) from given alternatives: feg feasyi fe9 9 aq:
83. 83.

U} ) @) ) M @ @) 4
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13

85.

Fppar Pppar

(1)

Directions (Question 87-90) faaeH (UAS 87-90)
Each of the following questions choose the  d&t fo3d faga (X) & Wi & ala uFifag &t fe g
correct mirror image of figure (X) fram the given feasyut fe9 ¥ ad:

alternatives: _ :
87. : : TH
. (1) ) @ @ @)
88. 88.
) M @ @) @) ) M @ @) @)
89 89
‘n: ;U_goc: ;o ‘D: ;U':Oc: ;o
) (1) @ ®) @ ) (1) @ ®) @
90. 90.
GF [ gilalla p [ 9| R | &R
X) (1) @ ®) @ X) (1) @ ®) @
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9.

92,

9.

9.

9.

96.

97.

14

ATER (SCIENCE)

A metal block of weight 98N is placed on table.
The bottom of block is 0.5m and width 0.2m. Find
the pressure exerted by block on the table.

1. 98Pa 2. 0.98Pa

3. 98Pa 4. 980 Pa

The minimum distance of source of sound from
reflecting surface to hear an echo is

1. 17.2m 2. 35m

3. 27.2m 4, 20m

You move a stone of glass on a cemented floor,
marble floor, water towel and on ice. The force
of fricition acting on the different surfaces in
increasing order will be.

1. Cemented floor, water, towel, marble floor, ice.
2. Marble floor, cemented floor, water, ice, towel.
3. ice, water, marble, towel, cemented.floor.

4.  Water, ice, marble, cerpented ﬂ_&br;-tbwel.

Which star is nearest to Eaﬁh?_ i
1. Pole Star 2. Orion
3. Sun 4.  Cassiopeia

Which one of the following statement is correct
regarding rods and cone cell in the human eye.
1. Cones are sensitive to dim light.

2. Cones are sensitive to bright light.

3. Rods are sensitive to bright light.

4. Rods are sense colour.

Which of the following does not conduct
electricity?

1. Sugar Solution

2. Vinegar Solution

3. Lemon Juice Solution

4.  Caustic Soda Solution

A simple pendulum completes 20 oscillation in
42 seconds. What is the time period of this

pendulum?
1. 21s 2. 22s
3. 21s 4. 62s

91.

92,

94,

95,

96,

7.

o8 fs@ex g9 = fe'q va v wga ffq Ha
@3 g fapur 3, fe'q g & 3® 0.5 vled
w3 g3l 0.2 viled & Hw €3 wma ewar
BIME IE T & B

1. 98Pa 2. 0.98Pa

3. 9.8Pa 4, 980 Pa

divr gEs el gl @ "3 € uaweafaz ads
TET AT I W W gdt ZaEa............ d1

1. 17.2%ted 2. 35ted

3. 27.2ted 4. 20 Hted

gl a9 &1 a8l & Ahie =8 Taw, HamMavg,
ur=t, J8tE w3 59w Gug 9B QW J12y 2y
A37 3 Bd1 9d 9919 98 & Tud gy f*9
feenfaz ad|

fauar It uast @ ng 3° 33 J1
oy JUEE I 2. Gows

HEHl wy @9 o9 w3 d5 Ae ¢ mig &9
J&t fod aust &9 fag=z mat 37

I% A% HaTd JRAT BEl ASeSES I¢ 351
7 H & 9Hae'd dual BEl HEeaHS 3¢ 751
7 HE 391 & AHY Aaw 751

a0 o [ e

J% fafumt (&9 faoad wig (€9 favsl sat dwr

A=t 37

1. Sataws

2. e e us

3. figerus

4. THAfed AF © UH

feamas Ugav 20 FB5 ud d9s fev a2 ffdw

AT 8ET J I UFBH ¥ wedd a8 dl d=ar?

1. 21s 2.
3. 2.1s 4.

22s
62s
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98.  Abigwoodenbox is being pushed on the ground 98.
from east to west direction. The force of friction
due to ground will act on this box towards.
1. Northdirection 2. South direction
3. Eastdirection 4. West direction

99.  Priyaknows thatloudness of sound is measured 99,
in decibels (db). She wants to know that noise
of which decibel sound is harmful.
1. morethan60db 2. more than 30 db
3. morethat70db 4. more than 80 db

100. The reflection of light from a smooth surface is 100.

called..............
1. diffused reflection 2.  regular reflection
3. dispersion 4, Lateral Inversion

101. Which of the following is not used for 101.

electroplating metal articles.

1. Nickel 2. Silver
3. Sodium 4. g~Chronitim,.

102. Which of the following causés:eal‘thquakes? 102,
1. Due to collision between pléfe's of earthcrust .1
2. Due to high speed air.
3. Due to heavy rain.
4. Allthe above

103. What is the name of heavenly bodies that enter 103
the earth atmosphere at high speed ?
1. Meteorites 2. Meteor
3. Comet 4.  Polestar

104. Forthe treatment of acidic soil which substance 104,

or chemical is used?

1. Calcium Oxide

2. Calcium Hydroxide
3. Calcium Carbonate
4. Organic Matter

105. Chinarose indicator turns basic solutionto . 105.

1. Brown Colour 2. Green Colour
3. Pink Colour 4.  Blue Colour

fe'qg <37 8d= o 9an 7" Uag 3 e fenr
& gdfsnr fapdr 37 ols I95 9912 98 HaH
@3 faue sdiEm

1. G39 fawr 2. oy= fawr

3. ydy fenr 4. ueH fewr

fipyr ==t J fa oat &t yamsr & FHEs (w9)
fe9 wue g5 B9 feg araar 9det J fa fas
FHEE o & #dla e Talarad dev d|
1. eodb T =T 2. 3odvFET
3. 70db T =T 4. sodb=FsU

Ud'H @ Ydr=dIs o fai und 3w I gFer d1
1. UHfgw ug=ess 2. fa@iva ug<d3s
3. 9= feuuzm 4. UHE Ufd=dds

45 fefymt &9 faozgl oz fansl ydvwaas
el a4t 2ot At

1. fsas 2. gt

3 g Agiom 4. oIHTHH

FI'% W E o 75 fefim S faaar aes 31

IT) PR UuEt @ uger @ wun fee

2. FFTITTIAIS 3. 39 I9H TS
4. Guggz ma

. Quge-22 iz v av av wadl ¥ swias fev

F+l &% vy g7 95, @ust & at afde gz
1. Gmarfiz 2. Gmar

3. WHET 4. Ug= =d

HAad et Iat 7 3 few @ Guaw w6t I5

f&d faw uergy & =93’ &1 wiet 37
1. SSHMHY WEAEE

2. JEHMM TEFIHEE

3. dEHMHE FEEae

4. dfew yeag

IrElET g9 yat Wi & ... 9 ¥ | fder d
1. FTEEI 2. JdIT
3. rEvE A 4. BlgTaar
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106

107.

108.

109.

110.

11.

112.

113.

114.

Which of the following products are formed
when CO, gas is passed through lime water

1. CaCo,and H,0

2. CaOandH,0

3. Ca(OH),and H,0

4. Mg(OH),and H,0

Which of the following is not natural indicator.
1. Methyl Orange 2.  Litmus
3. Turmeric 4. China Rose

Which of the following is natural polymer.
1. Cellulose 2. Nylon
3. Polyester 4. Polythene

Which of the following fibres prepared by using
wood pulp?

1. Polyester 2.
3. Nylon 4.

Teflon
Rayon

Which of following material is not biodégradable
1. Paper 2.8 Wollen Cloi
3. Teflon 4. “Cotton Cloth

Metals react with acids, which gas'is produced?
1. Hydrogen 2. Nitrogen
3. Carbon dioxide 4. Oxygen

If a substance cannot be broken down further
by chemical reactions by cooling, heating or by
electrolysis, such type of substance is called.
1. Element 2. Compound.

3. molecule 4. Antibiotics

Which of the following statement is not true.

1. More reactive metals displaces less reactive
metals from their compounds in aqueous
soloutions

2. Metals are good conductor of electricity

3. Metals are ductile

4. Metallic oxides are acidic in nature

Which of the following product is not produced
by destructive distillation of coal.

1. Coke 2. Coal Tar

3. Coal Gas 4.  Paraffin Wax

16

106.

107.

108,

109,

110.

1Ll

112.

113.

114.

g8 @ w3l fS9 aaws sehranelz suwgs
J faud uedy g2¥ 95|

1. CaCo,d H,0

Ca0m H,0

Ca(OH), 2 H,0

Mg(OH), %3 H,0

L75 T ¥ ]

i

3 fefunt {29 fagar geadt paa &4t 31

1. fuedts wiaw 2. fseum

3. gsdt 4. TrElETId
15 feft &9 faga geadl I9Ba J1
1. HZEA 2. FEEE

1. yTshdAed 4. YEEE

fagaT Ia a3 © UBY €t I3 99 famra
3T AtET I

1. UEhiAed 2.
3. SEEE 4.

/T
15 e

J5 fefmt 25" 1= fewesHls (Biodegradable)
wergy fadgr st 3

1L FEe 2. gataus
Rl vy 4. HItFum
JiH Uer Jaeht a5

1. JEFIAS 2. STEEIAS
3. AJHAIEPHEHTEIE 4. wEAMS

# a¥ yogy gRtefea yf3fafow enmar, d37
Fdd, IAH Fdd A7 faAEEl snwes Ewrar
fewfez 4T a3 av Aawr It Gud dl afde as|

1. I3 2. wfa=
3. mE 4. yIfea
75 feft {29 faga aus sla &4t J1

G5t € oz diget © A8t i fey ferafuz
ag fodtst I3 |

o3t faest St FeTEd 7%

3. ot fystedar Jetat a5

4. Tt ¥ WEATET IHE! A © 09 08
a8 & Ivs e faust sgerfea Gua yuz
aat gt

1. g 2.
3. BTN 4.

TUR oS ]

IBIg
arfes AW
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115.

116.

17.

118.

119.

120.

121.

122.

Which of the following substance is called black

gold
1. Petroleum 2. Coal
3.  Coke 4.  Gold Metal

Which of the following substance has highest
calorific value

1. Hydrogen 2.
3. Coal 4.

L.PG.
Petrol

Which amongest the following is not the
consequence of deforestation?

1. Flash Floods

2. Biodiversity equilibrium
3. Droughts

4.  Soil erosion

Mushrooms belongs to which class of
microorganisms

1. Becteria 2.
3. Virus 4,

Algae
Fungi

Sets of reproduction terms are'*i.gi_y:é'h below
choose the set has incorrect combination?

1. Sperms, testis, spermdust peni§

2. Menstruation , egg, oviduct, tterus

3. Sperm, oviduct, egg, uterus

4. Ovulation, egg, oviduct, uterus

Which of the following animals lacks respiratory
pigment in blood?

1. Fish 2.
3. Cockroach 4.

Pigeon
Lizard

Select the method of irrigation which can be
employed on an uneven land.

(i) Moat (iiy Sprinkler
(iiiy Chain pump (iv) Drip system
1. (i) and (iv) 2. Only (iv)
3. (i), (ii) and (i) 4. (i) and (ii)

Give the basic difference between plant cell and
animal cell?
1. Cell wall present in Animal cell and absent in

plant cell

2. Cell wall absent in Animal cell and present in
plant cell.

3. Cytoplasm absent in Animal cell and present
in plant cell.

17

115.

116.

117.

118.

119.

e s fan uerey & faar ater 37
1. U&=t 2. 9"
3. ad 4. HETF

75 fafunt (€9 fao3d yvegg ev A& W B =1
a7
1. THEEIES 2.

I, dE 3.

e At A

ds et =9 fauar darer 4t aeel v a3t
4t d1

1. 99

2. ¥= ffasz Azws
3. Har

4. & HT

vt guv+Ht=t 9 fan 52t 58 rguz g%
1. #Al=gE 2. el

3. fewz 4. =

J&' g9 yA=T AUl meet @ ayg e 3 gz 1 9eE
AW ST S ad |

1 mmmmmﬁeﬂ

i

120.

121.

122,

??fr

45 fefit 29" fao3d aa=9 @ ¥z f=v9
AT <d=d &d d& |

1. Hat 2. gg3d

i, Fedd 4. faamt

Hardt & €ar &t 9= Jd 7 WHEE s fee
293t A maet J1

iy fumst {iiy g

(i) =% du {ivy Fuar y=rst

L. iy w (iv) 2. fREEiiv)

3. (i, ity wi il 4. (e i

e s w3 #3 e 29 vy Wige e

1. Hefadt, e e fegige sat d€t T @
7 e fee 991 31

2. w3, g e fTa dge adt &t o ue
e e fes d&t 31

3. AEleUmTEW, 73 8 feg Wge adt der g
yg U 1w ffg der J1

4. AERUETH, A2 FE RS dge dvw o w

y F%Y‘E&%\SHH Wéﬁ&u‘éﬂ%’ﬁ’? OB check website Rifp& s S idEesthddain/
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123.

124.

125.

126.

127.

128.

129.

130.

18

The information given below refers to which of 123.

the following hormone:-
(1) Glands secreting hormone are located on
top of kidneys
(2) Converts glycogen into glucose
(3) Adjust stress when one is very angry and

worried.
Testosterone 2. Insulin
3. Adrenaline 4. Progesterone
Animal that does not yield wool is 124,
1. Alpaca 2. Woolly dog
3. Camel 4. Goat

Give name of two endemic species of plants 125,

found in pochmarhi biosphere reserve
1. Sal, Teak.

2. Mango, Jamun.

3. Silver ferns and arjun.

4. Al of these.

After fertilization, the resulting c:é'H \_w’l_'iich give 126.

rise to new individual is the - _
1. Zygote 2. Embo
3. Ovum 4. Foetus

Which organism are microscopic and dependent 12 7,

on host organism for reproduction?

1. Algae 2. Protozoa
3. Viruses 4. Bacteria
Which of the following is not a part of blood? 128.
1. Plasma 2. Platelets

3. White Blood cell 4. Lymph

Which of the following tool helps in uniform 129.

distribution of seeds while sowing?

1. Seed Drill
2. Thresher
3. Funnel Connected to pipe
4.  Sprinkler

Aastha accidentally placed her hand over a flame 130.

and immediately pulled it back. She felt the
sensation of heat and reacted due to action of

1. Blood Cell 2. Nerve Cell
3. Skin Surface 4. Nucleus of Cells

1. Tans e 99 T81 3Et 3ev @ ue rfag
Jut

2. IBEEES & A €9 geser I

3. fa3r w2 Gavs & weww fRe 3@ &
g FHeT JI

1. ZHIREleE 2. fepfes

3. WMFIEBIE 4. UdAREE

wra=d favar @& der &at aaer

1. wfEuEr 2. =Bigar

3. @5 1. "adl

udHdEl #ie N foves €9 yw da 3 ue
7 28 Aad Uer yardmt ¥ & @7

1. A%, Ad=S
2. WHE,  dHE

3. fAme= 998 Wi wigds
4. Guggz ma

faias fafgnr & &3 =0 928 Ag ev &t +
s fFuald wau fder 31
15 gl 2. F@F

fada mprite I8 i yres B9t s e 3
IGEECEECCE

1. gt 2. Uger

3. femg 4. #=E

35 fafipt f&5 fagar g e fowr o9t 41
1. UBTEHT 2. uBeden

i. HAeY gd= diAaT=r 4. BHET

s fefipnt fos fagos fw, favet S9ar, At
vl 3 feang giaer 41

i+ fg®

ey 5% gfgnr eas

ERICH

da o o=

WHET & BT B WU TN A G B2 T
Fu fe'gv w3 393 fen & =un fu'e fewm 1 Gnd
vy &1 A<esr vioww 1311 feg y3ifafen fan
=t ara=Tel aaa JEt|

1. BIAE 2. SEAE

3. oWt EtRgT 4. HEa=w
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131

132.

133.

134.

135.

136.

137.

138.

Four different electronic devices make a beep
after every 30 min, 1 hours, 1% hour and 1 hour
& 45 min, respectively. All the devices beeped
together at 12 noon. At what time they will again

beep together ?
1. 12 midnight 2. 3am.
3. 6am. 4. 9am.

By mistake, instead of dividing Rs. 117 among
A, B and C in the ratio J 7} it was divided in
the ratio of 2:3:4. Who gains the most and by
how much?

1. ARs.28 2.
3. C,Rs.20 4.

B,Rs. 3
C,Rs. 25

65 g is what percent of 2 kg?
1. 31% 2. 321 %

3. 85 % 4. 15 %

The perimeter of rectangular field is 480 meters
and the ratio between the length énd Breadth is
5:3. Then what is the ared of the field ?

1. 7200m? 2. 1500m?

3. 13500m? 4. 5400m’

The number which when added to itself 17 times
gives 162 as result then the number is:

1. 7 2. 8
39 4. 10
If 12% =1, then x is equal to :
1. 5 2. 2
3.0 4. 3

The measures of three angles of a triangle are
in the ratio 1:2:3. Then the triangle is a.........

1. Right angled triangle

2. Equilateral triangle

3. Isosceles triangle

4. Obtuse triangle

In the given figure if AOB is a straight line then
the value of x is:
1. 90°
2. 45
3. 22%0

0
* FOf Exam
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131

132.

133.

134.

135.

136.

137.

138.

v -2y fedderfaa #39 aw=a 30 fite,
1 ufer, 1% diev w3 1 dier 45 fite g nivarg
e gav 95| A 34 fea s 12 =+ eufae
wrarg Uer ddv 96| W 39 fea s warar

feg & nrea a3 =+ gaadr?
1. 12=dwdtdg 2. 3=d A=d
1. 6T AT 4, 9T A=d

ABw3I Cfeaaue 117/-dt 374 ] few
FFE &t aE TSIt 578 234 migurg few
2F 9 | mifaad 3w fe's fang Ag 3 fawmer
famr fufamr w3 fdar?
1. A&, gug2s/~- 2
3. C&,gue20/- 4.

65 9, 2 fa@ary e fad yztes 97
1. 31% 2. 321 %

B&,3ue 3/-
C &, gue 25/

3. 83 % 4. 13%

wrfegrarg U3 @ ufawmy 480 vted & w3
EHret ni3@IEt o vgug 5:3 d I HT Er
HIges &l g=ar?

1.0 7200 Htza? 2.
3, 13500 Hiea? 4,

forit i & 17 =t €7 ffimr few F9a 3

1500 Hiza?
5400 Hiza?

162 yruz e d I ffeprr uzr ad |
1. 7 2. 8
3.9 4. 10
ﬁui; =1, 37 x §I"HI =™
.5 2. 2
3. 0 4. 3

waqg fan fagw & 38 8= 1:.2.3. sigu3 9=,

1. mHaet fags
2. migw fggw
3. AHE gy faga
4. wffta =1 f3gq

fe'g fa'ga f<'9, 99 AOB fo'q Aa® JurJ It

—_

XY S & g=ar?
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139. Which of the following numbers is divisible by

1?
1. 3572404 2. 135792
3. 913464 4. 114345

Read the following information carefully and answer
the questions No.10to 12.

Statement : The given table shows a survey carried
out at a railway station for the arrival / departures of
the trains for the month of January 2020.

Delay Number Number of
(in min.) of arrivals departures
0 1250 1400
0-30 14 82
30-60 31 5

Over 60 5 3
Total 1400 1490

140.  The total number of the late arrivals of trains :
1. 90 2. 9%
3. 145 4.7, 150

141. The total number of late departure-of trains is
1. 85 2. 87
3. 9 4, 150

142. The percentage of number of trains arriving late
at the station is:
1. 10% 2.
3. 10.7% 4,

10.4%
10.9%

143. An A.C. consumes 8 units of electricity in 30
minutes and a bulb consumes 18 units electricity
in 6 hours. How much total units of electricity
will both AC and bulb consume in 8 days if they
run 10 hours a day.

1. 1520 units 2.
3. 1528 units 4,

1548 units
1525 units

144. Three numbers are in the ratio 2:3:4 and sum of
their cubes is 33957. Find the largest number
1. 28 2. 2
3. 32 4. 14

139. I et Afvmret oG faa=t Afumr 11

&% FItiar d?
1. 3572404 2. 135792
3. 913464 4. 114345

YHS &: 140 3° 142 &€l I8 fe 3t aeadl fonrs
SHBUI|

Fas: feat rast f&9 aas=dt 2020 a5 foa
I8=< Wens I 9% ISt € uda/a=Tadit v
Aa= faHa mignwa eanfen fapr O

gdt vt wr@e Tyt 38 e e in

(fer fg) ardta &1 faredt aradhat € fareat
0 1250 1400
0-30 14 82
30 - 60 31 5
60 3 frrer 5 3
CR el 1400 1490

140. B2 Ud9E BT IS a1 Sl &1 J & fare 3l
fazst a7

1.0 90 2. 95
3.0 145 4. 150
141, | @e e S8 3% arghy & 3 8 fareat
fastar
1. 85 2. 87
3. 90 4. 150
142. I8B< ACHE 3 B2 U9 LB I8 a1 ST
dl fareal fad yztmz 37
1. 10% 2. 10.4%
3. 10.7% 4. 10.9%

143. fewenm asinng 0 e S s afsewa
fe'a uuw ¢ W &9 18 wise st vuz
a0 U& | Pg dStHEe i asa o= B fest
few faat et yuz aosadr, e e g
fes f@g 10 U2 g2l

1. 1520 gfwe 2. 1548 gfae
3. 1528 wfae 4. 1525gfse

144. f3snfmrst2:3:4 € nau3s feT gaw3a
Q&' I wat v iz 33957 JIAg I L Al
ygrddl
1. 28 2. 21
3. 32 4. 14
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145.

146.

147.

148.

149,

150.

151.
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A train crosses a pole in 24 seconds, with a 145, f&'a d®ar a1 60 fa:l: u3t vieT €t argt 5&

speed of 60 km/hr. Find the length of train. fe'a 49 § 24 Afder f&9 ua aeet I
1. 300m 2. 400m dBdr gt ©f BEET UIT |
3. 240m 4, 600m 1. 300 Ht=a 2. 400 Htea
3. 240 vtew 4, 600 HeT
In a two-digit number, the unit's digit is 2 more 146. fea €-war =&t Al o9 feargt v oig
than that of the ten's digit. The sum of digits is vaE v w3 2 faprer 9, wiat e A3 fiftpyr
27 less than the number. Find the product of the T 27 We d, AT € wigt e grEaes U3
digits of the number. ddl
1. 8 2. 15 1. 8 2. 15
3. 24 4, 35 3. 24 4, 35
MNOPQR is a hexagon of each side 6 cm. Find 147. fe3 faza f<9, MNOPQR fea &3+ d,
the area of the given hexagon. N faret oda 39" 6 AN T | feR EgA oT v 3de®
1. 34cm? " . usTadi
2 68cm? . ] 1. 34AY M 5
. cm 8 g .
. © 2. 68A S g
3. 64cm? ) - N
3. 64mY R
4. 121cm?
) 4. 1217
8iem Q
Find the value of k, if (-2)&x (0.5)° 2l(=2)% fas. D58 (2) "% (0.5)° = (-2) T2 3T k @ B U™
. od|
.5 2. 3 1. @5 2. 3
3. 9 4, 2 38 19 4. 2
In the given pie chart, the number of students 149, fo'za fe'a '3 dig san R9 Sy-Tyont
(indegrees) of different countries are shown. o fefenradtm® €1 sifuwr (fzadt f<9)
Find the percentage of African students. TIHTET dTEl J | medlar € fefenradt e
TEI:ERTE LT
1. 121 % 1
; o, 1. 12 5 %
2. 145 % Indian 9 2. 142 % gast
3 1629 180° African 3 180°
S O 3. 162 %
0
4. 16% 4 16%
Which of the following is the probability of an ~ 150. & fextwi fe9 fagat faw niig< wesT &t
impossible event? L ERrub
1. 0 2. 1 1. 0 2. 1
1 1
3. -1 4, 2 3. -1 4. 2
Afaa fefarrTs (SOCIAL SCIENCE)
View regarding western education 'English 151. ‘et ffionr & g ars g2 fe3m 37 uat
education has more us slave' given by- AT wirat few feoa faw @ A&7
1. Raja Rammohan Roy 1. W THHIS I8
2. Mahatma Gandhi 2. WITEWT grgt
3. Sardar Patel 3. HRITTUIH
4,
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152.

153.

154,

155.

156.

157.

To reform the condition of women in society,
who opened nearly 25 schools for the girls in
Bengal on his own expenses?

1. PC Mukherjee

2. Narendra Nath Dutt

3. Bunkim Chandra Chatterjee

4. Ishwar Chander Vidya Sagar

Who set up a public work department for
republic welfare in British India?

1. Lord Dalhouise 2.  Lord Hastings

3. Lord Cornwallis 4. Lord Caradon

Who was the first home minister of independent
India?

1. Jawahar Lal Nehru

2. Mahatma Gandhi

3. Dr. Rajinder Prasad

4. Sardar Vallabh Bhai Patel

political
ytwo kinds
of democracy namely econom .democracy
and-

1. Cultural democracy

According to Dr. B.R. C
democracy has to be accompa nied

2. Lingustic democracy
3. religious democracy
4. Social democracy

Surat is situated on the of India-
1. Western Coast 2.

3. Northern Coast 4.

Eastern Coast
Southern Coast

Chronologically order the following-
(i)  Civil Disobedience Movement
(i) Resolution Pooran Swaraj

(i) Jaito Morcha

(iv) Quit India Movement

Choose the rigth answer-

1. (i), (iv), (i) and (iii
2. (iii), (ii), (i) and (iv
3. (i), (iii), (iv) and (i
4.

)
)
)
iii), (i), (ii) and (iv)

22

152.

153.

154.

I5%.

A &9 wigat &1 var pues et dars
WU yad I BAEdr 25 Ags fans mofuz
CIER

1. Wi At yuaet

2. SfdeeswEeEz

3. dfaw 9vd deadt

4.  EH=d gve f@fewr raE

fafew gz &9 wa37 &t 8 o an a98
wet Aa=vsd Jvad fsaws feamar ot ngrusr
faw & 1317

1. 9T B8IAT 2. BaE IffEar
3. BYF d95<BA 4. B9S85
AJ3d 9792 ¥ ufod arfa W34t d= As?
1. =794 &% Bfag

2. WITEHT art

3. @ afved yie

4. HIvd < 8T TE USH

. 3§ G HrEvad MEHT aAsifaa ad39
%mawémwmmm

Purrjabs =

156.

157.

2. FHE BaII9
3. UafHa Ead=9
4. mnfad 8a==d

Ad3 993 ¢ faua 32 3 afgz 37
ueHl I 2. yaHtIe
Fadt g7 4. THET IT

[

5 fafunit & guia wigAa d4:
iy & fWe=eas ness

(i) Ues A=TH YRI=

{iiy == 2 Haa

{ivi 9793 88 Wesa
Adt €39 €t 9= a9
1. (i), (iv), (i) = (i
2. (i), (i), (i) w3 (v
3 (i), (i), (v) == (i
4. (i), (i), (if) #F (iv

—_ T me T
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158.

159.

160.

161.

162.

163.

164.

Birsa Munda Called upon the farmers of Munda
tribe:

1. To co-operate with non-tribal people

2. Not to pay taxes to the Zimidars

3. Follow the British Empire

4. To protest peacefully in freedom movement

Victoria Terminus was included in the list of
world heritage by UNESCO in -

1. 2006 AD 2. 1996 AD

3. 1994 AD 4. 2004 AD

Schools opened for training of handicrafts and
trade were called-

1. Madarsa 2.
3. Maktabas 4.

Mahajani
Pathshala

We support 'Secularism' when we practise:

(i)  Vote bank Politics

(i) Intolerance

(iii)  Equal Status to all religions

(iv) Separate religion and ff_olitics'f:«

Select the correct answer- Vg

1. () and i) 2. ), (i) and (iv)

3. (iii) and (iv) 4. (i)and (i)

A Company is forcing labourers to work without
Paying them salary. Identify the fundamental
right that is being Violated were:

1. Right to equality

2. Rightto freedom

3. Right against exploitation

4. Right to constitutional remedies

Forcefully acquiring a land is an example of
which case:

1. Civil Case

2. Criminal Case

3. Both Civil & Criminal
4. Family Case

Which of the following categories of
fundamental right incorporate 'Abolition of
Untouchability:

1. Right to freedom of religion

Right to equality

Right to freedom

BN

158,

159.

160.

161.

fagRT 3w & W37 adl® &% mifug fanst &

faam
1. did gurfest at 575 Afgwar agsT
2. foitestd dam o e
3. fafew A & Waer
Faar
Y&nd fewe feawa €9 feadd eilan &
v THE atar famr?
1. 2006 AD 2. 1996 AD
3. 1994 AD 4. 2004 AD
eRIFvdl W3 Sug € fAuzTel el U8 ae RgEt
& fagr srer Al
1. Wednr 2. HIWAT
i, Hag" 4. UEHET

ot wan fsauyar & ised of ad wt d&
fafiut & graw yast wr fawr s=r@e at:
(iy <&t avatat

iy wifFgeHsaT

{iiiy A mEHt & H9THT HEST

(VI \ TSI o TaH & mEar gy

Al €39 St 9 a9 |
s gk o (i HERT) 2. (i), (il wE (iv)
Aol J Bitdn(iv) 4. (i) i

162,

163.

164.

fe'a aust vaeet & fast Isug fe 3 dv ads
el HAYd ad 341 9 | fer 29 faug ves wfaaw
& g &4t T adl:

1. AH&I & wfaad

2. HIZadT O wfigad

i, HeE= =90 sfoew

4. Afeosa Guget o wfoarg

faw =@t mits € sarfed aaqT a9aT faryaa
¥ WHE €t Gergee O:

1. fafes s

2. SHCE HHE

3. frfes wa d9=<t HHE

4. Jfgeriad HHE

J% fefnt 9" 82 &3 v waw faud ¥ifea
wfgarat f&9 ofvs O:

1. UaH FEI92" &7 mifgad

2. AH&ET & wigaTd

i, Haged © offgay

4.  fAE= fegq wfoag
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165.

166.

167.

168.

169.

170.

171.

Article 25 of constitution prohibits -

1. Discrimination on the basis of religion
2. Giving and taking dowry

3. Discrimination on the basis of caste
4. Trading of humans

Which of the following are example of political
Justice:

(i)  Right to Criticise Govt.
(i) Right to hold public office

(i) Right to equality

(iv) Right of equal pay for equal work

Select the correct answer using the code given
below:-

1. (i), (i) and (iv) 2.
3. (i) and (i) 3

(ii) and (iii)
(iii) and (iv)

Under which section Supreme Court has special
powers to take up appeals against the
judgement passed by the lower court:
1. Section136 2. Sectior

3. Section 134

Right to free and compulsory-education is
guaranted in Constitution under article:

1. Article 19 2. Article 19A

3. Article 21A 4. Article 21

Which amendment added ‘equality’ and
fraternity’ in the preamble of Indian Constitution
1. 44th 2. 16th
3. 93rd 4. 42nd

Indian Constitution has taken fundamental
rights from which Constitution:

1. British 2. American

3. French 4.  Russian

Human resources include:
(@) Human knowledge, efficiency and thinking

(b) Human intelligence, efficiency and hardwork
(c) Humanintelligency, knowledge and efficiency
(d) knowledge, efficiency and thinking

24

165.

166.

167.

169.

170.

171.

fifewrs &t aar 25 faw & wawat aa<t J:

1. UaH ¥ wug 3 fe3adr adar

2. T EF uEd ST

3. @l & wag F e a9ar

4.,  HZHT IHaEt

J& fafwt &9 awaifaa font & Gergas

faagt a7
() waae & WEgs v sivaa

(i) AEETEt Mg YU s @ witae
(i)  "ErEEIT @ wfuard

(iv) wered aH Bl gav9d IEHT &7 wfuad
Je fafimit &9 Rat g 9

1. (), (i) =2 (iv) 2. (i) = (iii)

3. (i) m (i) 4. (jii) m (iv)

fan urar »iuts Audid dae & Ja8hrt mers gt
v enfent fegn it pas v febm wfuae

TRTE IS
1@ UE 86 2. U126
3 5 I 139 4. War13s

jw fii e v wifgary ffeurs &
Sev &9 ean 47

1. &ee 19 2.

3. wWEew 21A 4.

WEET 19A
WEET 21

o=l Aa »igwd F9dl fAfeus & yna=ar
&9 migar 3 gazr § aus d13 fapr 97
1. 44T AT 2. 163 HT
3. 93FT AT 4. 42T AT

Fadl Afews &9 vifsa »ifuae fan ew &
wfsos & niavg 3 god did aF o

1. fieEw 2. wydEr
3. AW 4. gH
W& bl Aust =9 arlis o

1. W&l farrs, ad J98 & gRsIT W2 A9

2. WEH gOt, dH 95 S gEEIT WF AT
s

4. fomrs, gEsaT w3 A

For Exam Preparation & more content check website https://nmms.successadda.in/


https://nmms.successadda.in/

172.

173.

174,

175.

176.

Select the correct answer:

177.

178.

25

Punjab contributed a lot towards the production
of wheat in India because of:

(@) Saffron Revolution

(b)  Green Revolution

(c) Blue Revolution

(d) Orange Revolution

Tsunamis is a type of sea wave, which may
originate from the occurence of:

(@) Earth quake, valcanoes, land slides

(b) Earth quake, landslides, breaking of dams
(c) Volcanoes, Landslides, epidemics

(d) Earthquake, breaking of dams, avlanches

Cereal crops include:

(@) Rice, Peech, Wheat, Hemp

(b) Wheat, Rice, Jowar, Vegetables
(c)  Wheat, Oil Seeds, Cocoa, Maize
(d) Wheat, Rice, Oil Seeds, Pulses

Conservation of natural resources in %gl sense
is possible by: O
(@) Optimal use of resours
(b) Less use of resources
(c) Use of resources as per needs:-
(d) Non-use of some resources

Agriculture means:

(i)  Growing of crops

(i) Raising of live Stock

(i)  Running the industries based on agriculture

(@) (i) and (i) (b)
(© () (i)and (i) (d)

Which State in the largest producer of Bauxite:
(@) Bihar (b) Odisha
(c) WestBengal (d) Arunachal Pradesh

(i) and (iii)
(i) and (iii)

Cyclones are the fast blowing winds at the
speed of:

(@) 36 km per hour or more

(b) Less than 63 km per hour

(c) 63.3 km per hour or more

(d) 63 km per hour or more

172.

173.

174.

175.

177.

178.

F9d &9 g=q ¢l Ue=ew f@9 0oy o 993
I Gares faw gad Ifewr J:

1. oHat gigt
2. gdtgiEt

3. siEtgiEt
4. Wt giFt

sl fe'a 3t &t miedl sfaa 7 7 I& fafiput
f& faw fe'q avas a9d Uer 7 Aael J:
1. F9%, ASEHH, 19I5 ¥ fuRas
2. I8, 0TI8 ¢ fuRgs, st ¥ 2T
3. dFEHY, 1TEE ¥ fuRaE, Watrdl
4. IO, FHT O geE, a9 ¥ Ifend v furaer

Feddl AuEt @ Bal A A9 e 9
1 g AEENET §f93 W 83 wignd 993
2L WSt d w99

Tl &5 wEAd =99

Pumjﬁ e <a

176.

ydtrE F e 9
iy ewstd Ueraesr
(i ug ussT

(iy w=te=t s mafug rew E § IEEeET

ay wEAd "at €739 €1 9= a4d:

(i w (il
(i = (i

L. (=i 2.
3., i i 4.

TIREE O AF 3 = 2 93U o fagzr 37
1. faog 2. G
3. UeH gErE 4. WFEEE PR

TI993 T8 Tt gt § faur Ater §
1. 36 fadteg ySt wer af

2. 63fa@vtzg yItuer Fwe

3. 6333 fa@Hteg ystue af |

4. 63 fa@vegydtueraf =0
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179. Total land area under forest in India is: 179. 993 ¢ I HIdEB & ........ fowr diarst ds J@:
(@) About 22.7% 1. Sgdigs 22.7%
(b) Lessthan 27.2% 2. 272%FWe
(c) More than 22.7% 3. 22743 F0
(d) About 22.2% 4. JAdES 22.2%
180. Metalic minerals include: 180. U'g Hiew uwrad’ fT'9 ... WHE I
(a) Chromite, Tungsten, Gypsum 1. aHTele, cames, frum
(b) Dolomite, Thorium, Cobalt 2. FBWElE, B, daBe
(c) Chromite, Nickel, Tungsten 3. doWle, faas, cames
(d) Chromite, Uranium, Bauxite 4. FAHTETE, GIATHH, TAHTETE
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